
P.T.O

2019(Even) 
33403O4044

Time : 4Hrs.
Sem - VI /Mech

M/C Drg.

Full Marks : 80
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Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer One question from Group B, question 

carries 20 marks.

Answer One question from Group C, question 

carries 40 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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1. Choose the most suitable answer from the following

options :1x20=20

(i)

(i)

(ii)

GROUP - A

In Ist angle projection

(a) Object is kept in Ist quadrant.

(b)  Object lies between observer and plane

      of projection

(c)  Plan comes below the elevation

(d)  All of the above

A cotter has usually a.............cross section.

(a) Square

(b) Round

(c) Rectangular

(d) None of the above

O40441933403 O4044

P.T.O

C
O

T
T

E
R

JO
IN

T



3 33403

(iii)

(iii)

(ii)

P.T.O

.......in shape.

(a) Round

(b) Octagonal

(c) Square

(d) None of these

O40441833403 O4044

                 GROUP  - C

7.
40

1 x 40 = 40
Answer  One Question.

Two views of a cotter joint are shown in fig -3.
Draw the following views:
(a) Front elevation lower half in section
(b) Plan
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Fig. - 03
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(iv)

(iv)

(v)

As per BIS recommendation, trimmed size 

(A4) of drawing paper in mm is:

(a)  420 ´ 594

(b)  210 ´ 297

(c) 841 ´ 1189

(d) 594 ´ 841

Only...................method of projection is 

recommended by BIS, S.P, 46-1988

(a) 1st angle 

(b) 3rd angle

(c) 4th angle

(d) None of the above

O404417 33403O4044
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(vi)

(vi)

(vii)

(v)

................. line.

(a) Thick

(b) Thin

(c) Dotted

(d) None of the above

Hatching lines are generally drawn at............

............to the main outline of the section.
0(a) 30
0(b) 45
0

(c) 60

(d) All of the above

P.T.O
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4. The orthographic views of an object are given in 

fig-2. Draw the third (missing ) view with the help

of the two given views.

Fig - 2
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(vii)

(viii)

(viii)

Sectional views may be...............section.
(a) Full
(b) Half
(c) Partial
(d) All of the above

(a) A metric threads 20 numbers in 1.25 cm
     length
(b) A bolt of 20 mm nominal dia having 1.25 
      threads per cm.
(c) Metric threads 20 mm dia bolt and 1.25mm 
     pitch
(d) None of the above

O4044

(ix)
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M20 1.25 

it is coming out of the bolt then the thread is:

(a) Right hand thread

(b) Left hand thread

(c) Both (a) and (b)

(d) None of the above

(x)

(ix)

(x)

P.T.O
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fig-1. Draw an isometric view.
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to the axis between corresponding points on
adjacent threads
(a) Lead
(b) Pitch
(c) (a) and (b) both
(d) None of these

Centre line should ....................of the 
drawing
(a) End at the outline
(b) Extend out
(c) End before the outline
(d) None of the above

(xi)

(xi)

(xii)

(xii)

O40441333403
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Bearing may take up...............

(a) Radial load

(b) Axial load

(c) Both (a) and (b)

(d) None of the above

Answer any one Question.
1x20=20 

2.

20

Draw free hand sketch of any one of the following

(minimum two views):-

(a) 20 mm dia bolt with nut (three view)

(b) Socket and spigot

(c) Coupling (any)

(xx)

(xx)
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(a) Has a head on one end and a nut fitted to

     the other

(b) Has a head on one end and the other end

     fits into tapped hole in the other part to 

     be joined

(c) Has both the ends threaded

(d) Requires no nut

(a) R25

(b) 25R

(c) 25 Radius

(d) None of the above

(xiii)

(xiii)

(xiv)

P.T.O
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(xviii)

(xviii)

(a) Full size

(b) Enlarged

(c) Reduced

(d) All of the above

axes of the connected parts.

(a) Perpendicular

(b) Parallel

(c) Inclined

(d) None of the above

O4044
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groove.

(a) V

(b) Flat

(c) Both (a) and (b)

(d) None of the above

A knuckle joint is used to fasten two

(a) Circular rods

(b) Square rods

(c) Rectangular rods

(d) None of the above

(xv)

(xv)

(xvi)

(xiv)

O40441133403

(xvi)

(xvii)

(xvii)

To obtain half section................of an object

is imagined to be removed 

(a)          (one third) 

(b)          (one fourth)

(c) One half

(d) None of the above

P.T.O
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